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1 Cpoas

sl 48 ) pstadl) oy
A=5x—-4+7x—-8x+6
B=-4y+5-2y*+y-8y?
C=-3t+5-7t+2t—6t—6
D=4n-5+6n°+4-2n"-n+n’-7n

~3y-11

Golde] Geit Al
4(6+2X) 9(9-3x)
2(7-5x) —3(—4x-2)
6(8+3x) —7(6+2x)
—9(4-4x) —5(—4x-8)
7(3-2x) —8(-3x-7)
8(-5-9x)
7 (oA
A0 ahas S Apalad) AgMSY) (uis)
A=52x+7)
B=3x(5 x -2)

C=0Bx-5@2x-1)
D=-6x(2+4x)
E=4x(6x +4)+2(5x +3)
F=6x 2x+5)-4x (2x+8)
G=(3x-4)(5+2x)
H=2+4x)(3x -5)

[=@3x -5)?
J = (4x +7)2
K= (8x-5)(8x + 5)
L = (6x - 3)(6x + 3)
8 (e
2 el Jes
A=12x2-8;B= 10x2+40x;C=32x -48

9 Cuoa

Pl el Jas

A =Bx+5)6x+7)+ (3x+5)(4x +2)
B = (4x + 5)(2x - 3) - (4x + 5)(5x + 2)
C=(8x-5)(6x +3) + (8x-5)
D= 3x+2)(6x+4)+ (3x+2)2
E=05x-4)2-5x-4)(-3x+7)
F= 64x2 - 25
G=36x2-9

=-81x2 + 16
[=9x2-42x +49
J=64x2+16x +1

2 (oA
sddasealy e IS praw Jual
4a+2+3a ° ° 7a%+2
4a*-3+3a°+1 e e 7a’-4
4a* +5+3a-3 ° 7a+2
5a” +2+2a° ] ® 4a*+3a+2
5a’+3a°—4—a° e e 7a*-2
3 o
1o Lo oy Gl 831 51
5x—(3x+2) 3,5X+(—3x+2)
7X+3—(3x-2) 7—(4-2x)
2x—4—(—3x+2) | 5x+(5+2x)
5x—(—-3x-2) 2—-3x—(5x+7)
8X+7—(7x—6) 3+(6x—(3x+7))
2x+5—(5+2x) 7X—3—(4x—(7x+3))
6X—(2x—4) 6—2X+(4x2+7x—4)
5x—(3-5x) 6—2X2—(4x2+7x—4)
Ix—(—3x+2) 8X2+3—4x—(—6x>—7x+1)
2+3x—4x%+(5%—2)—(5x2+2-5x)
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pAll) A jald) jstal) Jacsy
A=5x2+3+4x+6+5x+3x2
B=2X—4x—7+2x2+8+9x2
C=5-7x—6-5x2+4x2+3Xx+2
D=7x—-5—-2+8x2+2x2+3x
E=11x2-45x+6+2x—63
F=7x2-5-6+9x+12x2
G=6X+4—4x2+6x+4x2—-4
H=9x2+2—-8x2+5—6—6x+7X
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5(2+x) o 10x—6
—4(3x+8) e e  10+5x
2(5x-3) e e 10x-3
5(2+0,2x) e e 10+x
5(2x-0,6) e o -12x-32
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